@ szl

8 wr. 2 WT. 8 wr.

1w 1wt CbeMHbI Yexon

g 1 WwT.

= ~ ; L 9= Demndep
M6x60 M6x40 M6x20 M6x12 Tlaiika SpukcoHa PE3VHOBbIN

6wt 26 WT. 44 wT. 4 Wr. 4 wr. 11 wt.**

= - < —~ 2 WT
30c™m - 4 wr. 50cm - 2 wr.

* 6 - npu wupuHe 160 n bonee, 5 - npu wupuxe 120, 140, 4 - npu wupuxe 80, 90.
**10 - npu wupwHe 80, 90.

®ypHWUTYpa ANs YyCTAHOBKU NOABLEMHOIO MexaHu3ma

MHcTpykuma no c6opke kposatu Helga
C NOABbEMHbLIM MEeXaHW3MOM U 6enbeBbiM ALLMKOM

www.sonum.ru | QL
w Komnnekt  Komnnekt M8x45M6x20 M8 M8
‘iﬁ (2wrT.) (2wT.) 2wt 4wt 8wt 4 wrd wr
!\
1 i\' B | L — 2
|| —

(120 cm.) - npy wupuHe 120, 140
(50 cm). - npu wupuHe 80, 90

X 3 - npu wupuHe 120, 140
X 2 - npy WwupuHe 80, 90

6 M6x20




CbeMHBbI yex




	Страница 1
	Страница 2

